< Dilybrie] Crosses

T What are these? \Mi@ Working out parent gamete alleles'
Dihybrid crosses are lke squares,
except that they look at _ traits instead

of one. They are used to work out the

of the different offspring

We can use the FOIL method to work out parent qamete alleles from
their qeno’(qpes. Color-code the arrows & words to e><p|ain this method

FOIL stands for:

genotypesand for each trait. A —D Q
The diagram contains squares of ﬁuﬁ’&iﬂ’
Mesuh‘s -wewust take __ when filling it M!JJ @@‘{f'@ﬁ —~D O

@@@ Monster phengtypes! @@@ Inner —> Q

The allele for three eyes The allele for blue fur &@Sﬁ? v O
(T) are dominant over (B) is dominant over the
the allele for one eye. ©)] | allele for orange fur PRACTICE: Work out the gamete alleles for each parent.

&
YWesHeNeNe
Use the genotypes to draw in the correct number of eyes
for each monster and then color-in the fur blue or orangel m FEfRr = C)jé C)jé @5 C)jé

e VAT VARt VA S Y

Cha”enqe - here
you will need to
work backwards!

Color me
Use the phenotgpe in ORANGE! in BLUEI
to work out ALL
L XD L X L XD CXD possible qenotqpes
ttbhb TThb ttBb for each monster. ( )

—(@ Emmatheteachie 2020)




(Parent 1 gametes }

“All of the

examples
are made

upl

(Parent 2 gametes )

6 6 6 &6

STEP 5: Work out the

BFOUJO eyes 2( (an ege(ashes = __/ (é

of each offspring phenotype.

Blue eyes 2( lOﬂq GLJQIGSI'\GS = __/ (é
BFOUJI") eyes 2( shorl( QQQ(GSI’\GS = __/ (é Blue eyes 2( short QLJQIOSI’\QS = __/ ‘é

Practice problem — EYES! ]

The allele for brown eyes (B) is
clommomt over the allele for blue eqes
he allele for lonq| ?elqshes

clommomt over the allele for short eqelashes

Parent | |s heterozg ous for eqe color
and for eyelashes length
Parent 2 is also heterozygous for both

tronts

b\)ork out the possible offspring genotypes
phenolypes and give the QXpecfed
probablftq of each phenotype.
STEP 1: Work out the parent
& the alleles in each

Parent | qenotqpe

Paren’( (

gametes:

Parenl( 2 qenol(qpe

Parent 2

gametes:

STEP 2: Write the gametes along
the topand  of the cross.

STEP 3: Work out offspring
by reading across and _

STEP 4: Work out the for each

genotype. Show this by coloring in the
irises and adding
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Practice problem - HEDGEHOG;’
The allele for mega spikes (M) is

dominant over the allele for normal spikes.
The allele for a red nose (R) is
dominant over the allele for a yellow nose.

Parent [ is homozgqous recessive for spikes
and heterozygous for nose color.

( ) Parent 2 is heterozqqous for spikes and

homozqqous dominant for nose color.

Work out the possible offspring genotypes

(Parent 2 gametes )

6 6 6 &6
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STEP 5: Work out the of each offspring phenotype.

and phenotgfoes and give the e)qoectej
i

probabi

ty of each phenotype.

STEP 1: Work out

the parent

& the alleles in each

Parent | genotype:
Parent |

gametes:

Parent 2 genotype:
Parent 2

gametes:

STEP 2: Write the

the topand

STEP 3: Work out

G
ONON®

( )
PP
______ gametes along

_ of the cross.

offspring

by reading across and _
for each

STEP 4: Work out the
qenotype. Show this by drawing the
& coloringinthe

Meqa spikes % red nose= __/b Normal spikes % red nose= __/b
Meqa spikes % qe“ow nose= __/ b Normal spikes & qe“ouu nose= __/ (b
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Silssississe

STEP 5: Work out the

Two stripes and straiqht
antennae= __/[b

of each offspring phenotype.

Two stripes and curlq antennae = __/'[6 One stripe and cur(q antennae = __/[b

One stripe and straiqht
antennae= __/[b

Practice problem — BEES!)’
The allele for two black stripes (T) is

dominant over the allele for one stripe.
The allele for curly antennae (C) is
dominant over the allele for s’(raiqh’( antennae

Parent [ is heterozygous for both traits.
Parent 2 is heterozygous for number of
stripes an homozqqous recessive for
antennae shape.

Work out the possible offsprin notypes
ar:d phenoiqp es anf:l qi\/lf> th? g:pec&ge

probability of each phenotype.

STEP 1: Work out the parent
& the alleles in each

)
0 ¢

STEP 2: Write the gametes along
the topand  of the cross.

Parent | genotype:
Parent |

gametes:

Parent 2 genotype:
Parent 2

STEP 3: Work out offspring
by reading across and _

STEP 4: Work outthe for each
qenotype. Show this by drawing the

and adding stripe(s).

—(@ Emmatheteachie 2020)




